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A.Conditional Coding
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B.Subsituational Coding
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A.Conditional Coding
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Directions (1 — 5): Consider the following data:

Each element is denoted by a symbol as shown above. Further, consider the

given conditions and answer accordingly.
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1. If the third element is odd and sixth element is a vowel, then both the elements should

be coded as '!'._
2. If the second element is consonant and sixth element is also a consonant, then both the

elements should be coded as the code of the second element.
3. If the fifth and sixth elements are odd, then the code for both the elements should be

interchanged.

1. gfe T da Aua © SR a1 dd WX &, Y g1 ddl &1 'I' $ ¥q & difed
T ST T

2. i ORI I oA § 3R BT dd Wt &oA 8, d@f 31 dcdl Bl gaX dd & PIS
& =Y a»’r%aﬁo'mmw%l%

3. gfe UTaal 3R O3 dd fAud g, df 31 ddl & die B! AT & 9¢d a1 &=

CHiEd
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1.0XUN2L

a) % !1? S|
bYe&| 12 $]

c) &/>~$|

d) &| !!'$|

e) None of these

2. L695U0 -_9 H>)@ | [

a) H>%@'@ —
by #>l@ !!
c) #>1*18
d #}!@ ~!

e) None of these
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3. 1'( Fl.ﬂ"’ Qe Wrex o \/owd Mo Code s Gvst qu( /(M*“
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Leex will he :fn—!efd@ﬁa/.
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I;\,L(a 'OaK!SJﬂr) = ﬁﬂ a
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E Conomic s s nol money = Ka [fa ko 5,4

ch,mam{ L\«J §u.tHJ_ Elonomics = Mo |a K‘L
mD’\C} MAY s onld, Fqﬂl' =

\

Zi fa Ne ki
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